BK S:t Erik
Mellandagssilver 2013-12-28

Partavling, 34 bord, 68 par. Antal brickor: 42. Medel: 1386.1.

Plac Par Poang % Namn MID Klubb
1 61 1744.8 62.95 Bengt-Erik Efraimsson - Anna Zack Efraimsson 127 4049 BK S:tErik
2 78 1656.2 59.75 Per Sdderberg - Henning Tingvall 18380 10744 BK S:tErik
3 67 1638.3 59.10 Thomas Magnusson - Peter Flodgvist 3693 14778 Nasby BS - BK S:t Erik
4 62 1637.9 59.09 Johan Safsten - Matti Hellstrom 35452 40401 Uppsalabridgen
5 9 16359 59.02 Emma Sjoberg - Tommy Bergdahl 80922 2181 Filbyter Bridge - Uppsalabridgen
6 65 1611.1 58.12 Hans-Olof Hallén - Margaretha Norback 9896 8660 Malmd BK - Lidingd BK
7 51 1592.6 57.45 Mans Berg - Peter Bertheau 12873 16757 BK S:t Erik - Uppsalabridgen
8 69 1589.8 57.35 Robert Larsson - Linnea Edlund 15346 34773 Uppsalabridgen
9 13 1587.8 57.28 Sven-Owe Andersson - Tommy Eneqvist 8954 2243 BK S:t Erik - Tyresd BK
10 80 1572.8 56.74 Lillemor Strindberg - Kerstin Strandberg 8806 9216 ArlaBK - BK S:t Erik
11 34 1568.2 56.57 Patric Holmberg - Tore Stormo 17031 78250 BK S:t Erik - Arla BK
12 77 1564.2 56.43 Ylva Strandberg - Peter Backlund 9217 244  Arla BK - BK S:t Erik
13 60 1562.1 56.35 Gosta Ohlsén - Lars Norback 9285 2809 Lidingd BK
14 19 1560.6 56.30 Lars Thanell - Lars-Erik Rudstrom 9236 10725 BK Stjarnskotten - BK S:t Erik
15 18 15344 55.35 Per Leandersson - Lars Nilsson 87992 43950 BK S:tErik
16 66 1526.5 55.07 MiAndrén - Cecilia von Scheven 90168 92446 BK S:tErik
17 1 15124 5456 Mart Altmé&e - Mari Lindblom 5914 996 BK S:tErik
18 8 1510.2 54.48 Ake Falkunge - Caroline Tesch 9025 80715 BK S:tErik
19 57 1506.8 54.36 Lennart Wiklander - Karl-Gustav Borg 17072 1966 BK Stjarnskotten - BK Tva Ess
20 21 1506.8 54.36 Elena Strém - Erik Asbrink 8220 8624 BK S:tErik
21 71 14958 53.96 Ann-Christine Brask - Josef Jawitz 82567 80046 BK S:tErik - IK MAKKABI
22 58 1484.3 53.55 Anders Kovacs - Else Kovacs 56602 55590 BK S:tErik
23 16 14835 53.52 Anna Martensson - Peter Martensson 17063 20373 BK S:t Erik
24 72 1483.4 53.51 Claes Melin - Lars Ekenlov 9105 8648 BK S:tErik
25 76 1476.8 53.28 Gudrun Strandberg - Johnny Johansson 4143 6116 Arla BK - Malungs BK
26 52 1462.3 52.75 Kristin Nedlich - Mattias Weller 85109 11482 BK S:tErik
27 64 1451.3 52.36 Kathrine Bertheau - Jessica Larsson 81089 17400 Filbyter Bridge
28 74 1450.2 52.32 Tomas Clason - Charlotte Huldt 30827 82370 BK S:tErik
29 3 1433.0 51.69 Goran Lind - Christer Koch 14248 85704 BK S:tErik
30 49 1425.7 51.43 EvaUddling - Roland Rosenqvist 90780 87200 BK S:tErik
31 79 14201 51.23 Micke Almgren - Lennart Eriksson 11390 9020 ArlaBK
32 47 1418.9 51.19 Rickard Malmsj6 - Christina Malmsjo 39780 39779 BK S:tErik - Saltsjobadens BS
33 22 1408.8 50.82 Lilly Sturesson - Ake Lagerlof 2308 2302 Sthims-Polisens BS
34 2 1398.6 50.45 Jonas Mann - Fredrik Sandblom 88357 84832 BK S:tErik
35 5 1386.0 50.00 Gunnar Andersson - Noomi Hebert 18507 10059 BK ALERT - BK S:t Erik
36 28 1381.7 49.84 Stina Szemere - Kenneth Lofstrand 44355 44356 BK S:t Erik
37 63 1380.7 49.81 Hannu Oikarainen - Anders d"Aquino 35098 21174 BK S:tErik
38 32 1377.3 49.69 Sven Martensson - Ewa Eriksson 41916 80479 BK S:tErik
39 11 1362.8 49.16 Kerstin Hastad - Bengt Lauthers 11222 32610 Danderyds BS - BK S:t Erik
40 31 1361.7 49.12 Ann-Sophie Andersson - Joanna Tenggren 39116 39113 Rimbo BK
41 26 1352.2 48.78 Thesy Burenstam Linder - Cecilia Versteegh 27922 27235 BK S:tErik
42 25 13519 48.77 Hans Hultgvist - Anders Hoby 2199 52765 BK S:tErik
43 59 1348.4 48.64 Jan Larsson - Lars-Olof Hessle 5220 10170 BK Tva Ess - Nasby BS
44 55 1328.7 47.93 Marten Aronsson - Bjérn Samuelsson 32555 29750 BK S:tErik
45 10 1311.8 47.32 Peter Knutsson - Gunnar Stockhaus 17442 2001 Sddertélje BS - Stureby BK
46 27 1306.3 47.13 Olle Fahlén - Margareta Winell 30826 34369 BK S:tErik
47 68 1304.7 47.07 Peter Westrin - Mats Waltré 91045 90956 BK S:tErik
48 53 1301.6 46.96 Margareta Walldin - Hilding Rune 1907 8743 BK Stjarnskotten
49 24 1299.2 46.87 Torkel Norda - Ove Astrand 46451 15183 BK S:t Erik - BK ALERT
50 48 1293.6 46.67 Stefan Andersson - Eva Blomberg 84771 83300 BK S:tErik
51 20 1279.6 46.16 Magnus Arve - Birgitta Rasch 40423 49848 BK S:t Erik
52 33 12711 45.85 Jan Alpe - Christina Torsslow 84783 18545 BK S:tErik
53 23 1263.6 45.58 Eva Wiklander - Eva Benckert 17165 22867 BK S:tErik
54 56 12454 44.93 Anders Johansson - Ann-Margret Johansson 10188 13810 BK S:tErik
55 75 1239.4 44.71 Ulla Sjowall - Britt Aurell 46456 85672 BK S:tErik
56 7 1237.2 44.63 Clary Sundblad - Thomas Holmgren 37546 35902 BK S:tErik
57 54 1202.0 43.36 Gianpaolo Vigliar - Gunilla Brolin 55569 14065 BK S:tErik
58 4 1199.5 43.27 Gunnar Enmark - Bo Sund 46432 21586 Lidingd BK - Lilla Sallskapet, Kalmar
59 50 1199.2 43.26 Yvonne Flodgvist - Elisabeth Nordling 14805 11622 BK S:tErik
60 14 1189.1 42.90 Stephan Sundling - Sandor Bundzik 33100 78689 Marsta BK - BK S:t Erik
61 29 1167.5 42.12 Jeanette Josefsson - Magdalena Ginste 16767 83512 BK S:tErik
62 73 1162.2 41.93 Barbara Lane - Bjorn Hellerstrom 52559 52844 BK S:tErik
63 6 11059 39.90 Monika Henkow - Lennart Henkow 17581 17583 BK S:tErik
64 15 1066.0 38.45 Berit Strandberg - Eva Klingspor 38969 26851 BK S:tErik
65 12 1065.2 38.43 Bo Lofgren - Elisabeth Lalin 43825 35845 Alvik BC - BK S:t Erik
66 30 1025.9 37.01 Liza Hittner - Helen Tonkus - 44012 S:T Erik - BK S:t Erik
67 70 1000.1 36.08 Martin Berne - Kerstin Berne 53136 53137 BK S:tErik
68 17 975.0 35.17 Bengt Lidal - Marie-Louise Engblom 35890 37548 BK S:tErik
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27 54 3NV-2 46 100 640 20|48 33 54DO-3 4A 500 66.0 0.0(27 54 6vDO-2 42 500 66.0 0.0

BK S:t Erik, Mellandagssilver 2013-12-28, sida 1 av 9




3 0-2 +J 100 64.0 2.0 6vDV -2 «Q 300 64.0 2.0 6y O-3 a2 300 64.0 2.0
2NV -2 2 100 64.0 2.0 34 S= ¢ A 140 62.0 4.0 6y O -2 a2 200 60.0 6.0
INS= a2 90 58.0 8.0 4v V-1 4Q 50 60.0 6.0 6y O-2 a2 200 60.0 6.0
INS= + K 90 58.0 8.0 44 S-1 vA -100 58.0 8.0 6y O -2 &3 200 60.0 6.0
INS= 49 90 58.0 8.0 2v V +2 4Q -170 56.0 10.0 5v O-1 &7 100 51.0 15.0
2# O -1 *J 50 43.0 23.0 44D S -1 vA -200 49.0 17.0 5v O-1 &7 100 51.0 15.0
2NV -1 v3 50 43.0 23.0 54DS-1 *J -200 49.0 17.0 5v O-1 L X 100 51.0 15.0
24 O-1 ¢J 50 43.0 23.0 44D S -1 ¢+ K -200 49.0 17.0 4v O -1 &3 100 51.0 15.0
2NV -1 *4 50 43.0 23.0 44D N -1 &K -200 49.0 17.0 5v O0-1 a2 100 51.0 15.0
2NV -1 2 50 43.0 23.0 44DN-1 &A -200 49.0 17.0 5v V-1 4 A 100 51.0 15.0
2NV -1 2 50 43.0 23.0 44D N-1 &K -200 49.0 17.0 3v V+1 aA -170  44.0 22.0
2NV -1 ¢2 50 43.0 23.0 5& O = aA -400 40.0 26.0 44D S -3 v2 -500 41.0 25.0
2v O-1 +J 50 43.0 23.0 5& O = s A -400 40.0 26.0 44D S -3 v2 -500 41.0 25.0
2NV -1 2 50 43.0 23.0 5& V= 4 A -400 40.0 26.0 4v O = &7 -620 25.0 41.0
2NV -1 *2 50 43.0 23.0 dv V = 4Q -420 33.0 33.0 4v O = a2 -620 25.0 41.0
2NV -1 2 50 43.0 23.0 5¢ V+1 4Q -420 33.0 33.0 4v O = L X -620 25.0 41.0
2NV -1 v2 50 43.0 23.0 5& O +1 4 A -420 33.0 33.0 4v O = a2 -620 25.0 41.0
INS-1 a2 -50 24.0 420 4v V = 4Q -420 33.0 33.0 4v O = LY -620 25.0 41.0
INS-1 a2 -50 24.0 420 4v V +1 aT -450 20.0 46.0 4v O = a2 -620 25.0 41.0
INS-1 a2 -50 24.0 42.0 4v V +1 4Q -450 20.0 46.0 4v O = a2 -620 25.0 41.0
2v S-1 aA -50 24.0 420 4v V +1 4Q -450 20.0 46.0 4v O = a2 -620 25.0 41.0
2¢ N-1 v7 -50 24.0 420 4v V +1 +Q -450 20.0 46.0 4v O = &3 -620 25.0 41.0
2¢ N-1 v7 -50 24.0 42.0 4v V +1 4Q -450 20.0 46.0 4v O = a5 -620 25.0 41.0
INS-1 aA -50 24.0 420 4v V +1 &Q -450 20.0 46.0 4v O = a2 -620 25.0 41.0
26 0= +J -90 16.0 50.0 4v V +1 +Q -450 20.0 46.0 4v O = L X -620 25.0 41.0
24 S-2 &T -100 11.0 55.0 4v V +1 4Q -450 20.0 46.0 4v O = &3 -620 25.0 41.0
2¢ N-2 v7 -100 11.0 55.0 4v V +1 4Q -450 20.0 46.0 4v O = a2 -620 25.0 41.0
2¢ N-2 »2 -100 11.0 55.0 5v V+1 aJ -480 10.0 56.0 5v O= +9 -650 5.0 61.0
2¢ N-2 +9 -100 11.0 55.0 54D S -2 vA -500 6.0 60.0 4v O +1 +8 -650 5.0 61.0
24 V= &A -110 5.0 61.0 54D S -2 ¢A -500 6.0 60.0 4v O +1 +8 -650 5.0 61.0
2v O = +J -110 5.0 61.0 54D S -2 vA -500 6.0 60.0 4v O +1 &3 -650 5.0 61.0
2NV = 2 -120 2.0 64.0 54D O = 4 A -550 2.0 64.0 4v V +1 +8 -650 5.0 61.0
2ND O = ¢2 -490 0.0 66.0 5¢vDV= 4Q -650 0.0 66.0 4v O +1 +8 -650 5.0 61.0
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44 N +2 v8 680 61.0 5.0 54 O-3 +3 150 66.0 0.0 44D O -3 v8 800 66.0 0.0
44 N +2 ¢+4 680 61.0 5.0 64 O-1 vA 50 60.0 6.0 SNDN+1 4Q 650 64.0 2.0
44 S +2 &4 680 61.0 5.0 64 O-1 ¢*4 50 60.0 6.0 44D O -2 ¢ A 500 62.0 4.0
44 N +2 +4 680 61.0 5.0 64 O-1 vA 50 60.0 6.0 3NN +3 «Q 490 60.0 6.0
44 N +2 +5 680 61.0 5.0 64 O-1 vA 50 60.0 6.0 3NN +2 «Q 460 57.0 9.0
44 N +2 v6 680 61.0 5.0 64 O-1 2 50 60.0 6.0 3N N +2 «Q 460 57.0 9.0
44 N +1 ¢J 650 32.0 34.0 5& V= ¢ A -400 53.0 13.0 3NN +1 vQ 430 49.0 17.0
44 N +1 *4 650 32.0 34.0 S5& V= v9 -400 53.0 13.0 3N S +1 v5 430 49.0 17.0
44 N +1 &J 650 32.0 34.0 44 O +1 vA -450 32.0 34.0 3NN +1 «Q 430 49.0 17.0
44 N +1 *4 650 32.0 34.0 44 O +1 +4 -450 32.0 34.0 3NN +1 «Q 430 49.0 17.0
44 N +1 LN 650 32.0 34.0 54 O= &2 -450 32.0 34.0 3NN +1 «Q 430 49.0 17.0
44 N +1 LN 650 32.0 34.0 54 O= a5 -450 32.0 34.0 3NN +1 «Q 430 49.0 17.0
54 N= +4 650 32.0 34.0 54 O= +3 -450 32.0 34.0 44D O -1 v8 200 42.0 24.0
44 N +1 +J 650 32.0 34.0 44 O +1 a5 -450 32.0 34.0 2N S +2 a4 180 40.0 26.0
44 N +1 LN 650 32.0 34.0 54 O= v2 -450 32.0 34.0 44 S = a4 130 23.0 43.0
44 N +1 ¢J 650 32.0 34.0 54 O= a5 -450 32.0 34.0 34 S+1 a4 130 23.0 43.0
44 N +1 *4 650 32.0 34.0 44 O +1 *4 -450 32.0 34.0 44 N = a4 130 23.0 43.0
44 N +1 *4 650 32.0 34.0 54 O= vA -450 32.0 34.0 3 S +1 a4 130 23.0 43.0
44 N +1 *4 650 32.0 34.0 4e V +1 v9 -450 32.0 34.0 34 S+1 a4 130 23.0 43.0
44 N +1 +J 650 32.0 34.0 44 O +1 a5 -450 32.0 34.0 3 S+1 43 130 23.0 43.0
44 N +1 LN 650 32.0 34.0 54 O= ¢+4 -450 32.0 34.0 34 S+1 a4 130 23.0 43.0
44 N +1 *J 650 32.0 34.0 54 O= *4 -450 32.0 34.0 34 S+1 a4 130 23.0 43.0
44 N +1 LN 650 32.0 34.0 44 O +1 +3 -450 32.0 34.0 3 S+1 a4 130 23.0 43.0
44 N +1 LN 650 32.0 34.0 54 O= ¢+4 -450 32.0 34.0 34 S+1 a4 130 23.0 43.0
44 N +1 *4 650 32.0 34.0 44 O +1 *4 -450 32.0 34.0 34 N +1 a4 130 23.0 43.0
44 N +1 LN 650 32.0 34.0 44 O +1 a5 -450 32.0 34.0 3 S+1 a4 130 23.0 43.0
44 S +1 &J 650 32.0 34.0 44 O +1 *4 -450 32.0 34.0 3% S+1 v9 130 23.0 43.0
44 N +1 &J 650 32.0 34.0 ANV +1 +3 -460 9.0 57.0 24 S +2 a4 130 23.0 43.0
44 N +1 LN 650 32.0 34.0 3N O +2 +5 -460 9.0 57.0 48 S = a4 130 23.0 43.0
44 N = LN 620 5.0 61.0 ANV +1 2 -460 9.0 57.0 28 S +2 a4 130 23.0 43.0
44 N = *J 620 5.0 61.0 3N O +2 v2 -460 9.0 57.0 24 O-1 ¢ A 100 6.0 60.0
44 N = &J 620 5.0 61.0 54 O +1 +8 -480 2.0 64.0 3NS-1 ¢2 -50 4.0 62.0
44 N = LN 620 5.0 61.0 564 O +1 vA -480 2.0 64.0 264 V= *2 -110 2.0 64.0
24 N +3 v3 200 0.0 66.0 54 O +1 a5 -480 2.0 64.0 3v N-3 &T -150 0.0 66.0
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res g
65 20 34DV-2 v3 500 66.0 00| 6 77 5¢DO-3 v6 500 640 20| 4 79 6¢ N= vA 920 62.0 4.0
73 12 34 V-2 v3 200 64.0 20|17 68 5¢DO-3 vQ 500 640 20(13 72 6¢ N= vA 920 62.0 4.0
11 74 3v S= 43 140 60.0 6.0|62 23 5¢DO-3 &K 500 64.0 20|51 34 64 N= vA 920 62.0 4.0
61 24 3v S= A 140 60.0 6.0(53 32 4v N+1 +9 450 59.0 7.0(61 24 6¢ N= vA 920 62.0 4.0
66 19 2v S+1 ¢Q 140 60.0 6.0(54 31 4v N+1 aJ 450 59.0 7.0({65 20 6¢ N= vA 920 62.0 4.0
33 52 2v S= 3 110 54.0 120| 5 78 4v N= *7 420 46.0 20.0|11 74 3NN+3 43 490 52.0 14.0
70 15 2v S= 43 110 540 120 7 76 4v N= +4 420 46.0 20.0|{29 56 3N N+3 3 490 52.0 14.0
71 14 2¢ S+1 v2 110 54.0 12.0(13 72 4v N= +9 420 46.0 20.0 {48 49 3N N+3 43 490 52.0 14.0
17 68 34 V-1 v3 100 49.0 17.0|25 60 4v N= +6 420 46.0 20.0|69 16 3N N+3 48 490 52.0 14.0
75 10 340-1 ¢ A 100 49.0 17.0|26 59 4v N= aJ 420 46.0 20.0(73 12 3N N+3 43 490 52.0 14.0
2 8 3vS-1 A -100 37.0 29.0|48 49 4y N= aJ 420 46.0 20.0| 7 76 3N N+2 vA 460 41.0 25.0
479 4v S-1 3 -100 37.0 29.0|51 34 4v N= 2 420 46.0 20.0({25 60 3N N+2 vA 460 41.0 25.0
7 76 3vS-1 3 -100 37.0 29.0|61 24 4y N= aJ 420 46.0 20.0 |57 28 3N N+2 3 460 41.0 25.0
25 60 2v S-1 a5 -100 37.0 29.0|66 19 4y N= aJ 420 46.0 20.0 |63 22 3N N+2 43 460 41.0 25.0
26 59 3v S-1 +Q -100 37.0 29.0|69 16 4y N= Ly 420 46.0 20.0|64 21 3NN+2 vA 460 41.0 25.0
54 31 3v S-1 3 -100 37.0 29.0|75 10 4y N= +4 420 46.0 20.0{80 3 3NN+2 43 460 41.0 25.0
58 27 3v S-1 43 -100 37.0 29.0|71 14 3NN= +9 400 34.0 32.0(26 59 3NN+1 vA 430 30.0 36.0
63 22 4v S-1 +Q -100 37.0 29.0|57 28 3¢DO-2 v2 300 31.0 35.0(30 55 3NN+1 43 430 30.0 36.0
64 21 4v S-1 a5 -100 37.0 29.0|67 18 4¢D O -2 v4 300 31.0 35.0(33 52 3NN+1 3 430 30.0 36.0
67 18 3v S-1 43 -100 37.0 29.0|30 55 5¢ O-2 4 A 100 28.0 38.0(66 19 3NN+1 a2 430 30.0 36.0
30 55 24 V+1 v6 -140 26.0 40.0(29 56 4¢ O-1 v4 50 26.0 40.0|67 18 4ANN= 3 430 30.0 36.0
1 9 4vS-2 3 -200 15.0 51.0|11 74 4v N-1 +9 -50 18.0 480 1 9 5¢ N+1 vA 420 16.0 50.0
6 77 3v S-2 43 -200 15.0 51.0|63 22 4v N-1 aJ -50 18.0 48.0| 6 77 5¢ N+1 43 420 16.0 50.0
29 56 4v S-2 3 -200 15.0 51.0(64 21 5v N-1 a) -50 18.0 48.0 (50 47 4v S= v5 420 16.0 50.0
48 49 4v S-2 3 -200 15.0 51.0|65 20 4v N-1 +4 -50 18.0 48.0 (53 32 5¢ N+1 vA 420 16.0 50.0
50 47 4v S-2 43 -200 15.0 51.0|70 15 4v N-1 ¢7 -50 18.0 48.0 (54 31 4v S= v6 420 16.0 50.0
51 34 49 S-2 43 -200 15.0 51.0(73 12 3NN-1 * K -50 18.0 48.0 (58 27 4v S= &T 420 16.0 50.0
53 32 3v S-2 A -200 15.0 51.0|80 3 4v N-1 aJ -50 18.0 48.0 (70 15 5¢ N+1 vA 420 16.0 50.0
62 23 3NN-2 +9 -200 15.0 51.0| 1 9 6v N-2 2 -100 7.0 59.0|71 14 5¢ N+1 vK 420 16.0 50.0
69 16 4v S-2 43 -200 15.0 51.0( 2 8 3NN-2 +9 -100 7.0 59.0|75 10 5¢ N+1 vA 420 16.0 50.0
80 3 4v S-2 vA -200 15.0 51.0|33 52 5v N-2 +9 -100 7.0 59.0|17 68 5¢ N= vA 400 6.0 60.0
57 28 4v S-3 43 -300 4.0 62.0|58 27 4v N-2 +9 -100 7.0 590| 2 8 6¢ N-1 vA -50 2.0 64.0
5 78 4vDS-2 &A -500 2.0 64.0(50 47 6v N-3 L} -150 2.0 640 5 78 6¢ N-1 vA -50 2.0 64.0
13 72 34DV = &K -730 0.0 66.0| 4 79 44DS-3 *2 -500 0.0 66.0|62 23 5v S-1 a4 -50 2.0 64.0
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
67 20 44D O -2 v5 500 66.0 0.0(62 25 3NN +2 *T 460 66.0 0.0(51 48 44 N+1 +3 650 65.0 1.0
18 69 24 O-2 v5 200 500 7.0 2 10 3NS+1 +3 430 60.0 6.0(66 21 4v N+1 2 650 65.0 1.0
26 61 34 0-2 v8 200 59.0 7.0({26 61 3NS+1 +3 430 60.0 6.0 1 11 4v N= +8 620 51.0 15.0
34 53 34 0-2 v5 200 59.0 7.0(34 53 3NS+1 +4 430 60.0 6.0 2 10 4v N= 2 620 51.0 15.0
52 47 340 -2 v5 200 59.0 7.0({64 23 3NN+1 &3 430 60.0 6.0(14 73 4v N= +8 620 51.0 15.0
62 25 34 0-2 ¢+5 200 59.0 7.0({67 20 3NN+1 *6 430 60.0 6.0(31 56 4v N= +8 620 51.0 15.0
63 24 44 0O -2 +5 200 590 7.0| 8 76 44 N= 8 420 47.0 19.0|52 47 4v N= ¢+Q 620 51.0 15.0
58 29 2¢ S+1 «Q 110 51.0 15.0 (31 56 44 N= *6 420 47.0 19.0|55 32 4v N= +8 620 51.0 15.0
65 22 3¢ S= «Q 110 51.0 15.0 (49 50 44 S= vT 420 47.0 19.0|58 29 4v N= +8 620 51.0 15.0
111 2NV-1 vA 100 37.0 29.0 (54 33 44 N= a2 420 47.0 19.0|67 20 4v N= ¢+ 4 620 51.0 15.0
2 10 2NV-1 vA 100 37.0 29.0 (59 28 44 N= +6 420 47.0 19.0|70 17 4v N= +8 620 51.0 15.0
3 9 3NV-1 v3 100 37.0 29.0 (65 22 44 N= +6 420 47.0 19.0|72 15 4v N= +8 620 51.0 15.0
14 73 2NV -1 +3 100 37.0 29.0 (74 13 44 N= +6 420 47.0 19.0|74 13 4v N= +8 620 51.0 15.0
31 56 2N V-1 v9 100 37.0 29.0(80 4 44 N= +6 420 47.0 19.0|80 4 4v N= ¢+Q 620 51.0 15.0
49 50 2NV-1 v3 100 37.0 29.0(12 75 3NS= v] 400 38.0 28.0( 3 9 5¢DV-2 vA 300 34.0 32.0
51 48 2N V-1 vA 100 370 29.0( 1 11 INS+3 6 180 33.0 33.0( 579 5¢DV-2 aT 300 34.0 32.0
55 32 2NV-1 vA 100 37.0 29.0 (55 32 2N S +2 +9 180 33.0 33.0( 6 78 5¢DV-2 vA 300 34.0 32.0
64 23 340-1 ¢+5 100 37.0 29.0(63 24 INS+3 +3 180 33.0 33.0(18 69 5¢DV-2 vA 300 34.0 32.0
66 21 34 0-1 +5 100 37.0 29.0(71 16 2N S +2 +3 180 33.0 33.0(54 33 5¢DV-2 vA 300 34.0 32.0
68 19 2NV -1 vA 100 37.0 29.0 (27 60 24 N+2 +6 170 28.0 38.0 (64 23 3v N+2 +3 200 28.0 38.0
72 15 24 0-1 v5 100 37.0 29.0 (14 73 INS+2 vT 150 26.0 40.0( 7 77 3v N+1 +8 170 22.0 44.0
8 76 INO= +5 90 22.0 440 3 9 24 N+1 v7 140 23.0 43.0| 8 76 3v N+1 +8 170 22.0 44.0
70 17 24 0= +5 90 22.0 440| 579 34 N= vA 140 23.0 43.0(59 28 3v N+1 +8 170 22.0 44.0
80 4 240= v5 -90 22.0 44.0|52 47 INS+1 vJ 120 20.0 46.0 (62 25 3v N+1 2 170 22.0 44.0
54 33 2¢ S-1 *Q -100 18.0 48.0|58 29 INS= *4 90 18.0 48.0|65 22 3v N+1 +8 170 22.0 44.0
7 77 3% 0= v5 -110 13.0 53.0|18 69 3NN-1 *6 -50 12.0 54.0(12 75 2v N+1 2 140 14.0 52.0
27 60 24 O +1 v5 -110 13.0 53.0|30 57 3NS-1 +3 -50 12.0 54.0(27 60 3v N= +8 140 14.0 52.0
59 28 24 V= vA -110 13.0 53.0|51 48 3NS-1 v6 -50 12.0 54.0(63 24 3v N= +8 140 14.0 52.0
71 16 24 V= vK -110 13.0 53.0|68 19 2NS-1 +5 -50 12.0 54.0(68 19 5¢ V-2 v5 100 10.0 56.0
6 78 INO+1 *4 -120 8.0 58.0|72 15 3NN-1 +6 -50 12.0 54.0 (30 57 5¢ V-1 vA 50 8.0 58.0
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12 75 28 O +2 &5 -130 6.0 60.0(66 21 3NN-2 v6 -100 50 61.0(26 61 4v N-1 +8 -100 4.0 62.0
579 2NS-2 &0Q -200 40 62.0(70 17 3NS-2 +5 -100 50 61.0(34 53 4v N-1 *2 -100 40 62.0
30 57 3NV = vA -600 1.0 650| 6 78 3NS-4 +3 -200 1.0 65.0|49 50 5v N-1 +8 -100 4.0 62.0
74 13 3NV= +3 -600 1.0 650| 7 77 3NN-4 +3 -200 1.0 65.0|71 16 5vDN-2 *2 -500 0.0 66.0
13 « ED87 14 10953 15 & Kn8
Nord v93 Ost v Kn874 Syd v ED10965
Alla ¢ K9653 Ingen + 1084 NS +D7
&95 &85 #1083
4 Kn64 41032 aD2 & EKn84 4 EK10943 D752
vK4 v 10865 v 9532 v EK10 v7 v 843
+ ED4 + Kn82 + KD ¢ 532 ¢ K32 + E84
#KKn643 #1072 #EK1092 #DKn6 &E75 D92
& K95 & K76 46
v EDKn72 v D6 v KKn2
¢ 107 ¢+ EKn976 ¢ Kn10965
&ED8 &743 &KKn64
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 76 24DV -4 v9 1100 66.0 0.0(63 26 4y O-2 &3 100 66.0 00| 2 12 44 V-1 +Q 50 56.0 10.0
72 17 3NS+2 &6 660 640 20| 8 77 3NO-1 +6 50 580 80| 9 76 44 V-1 &2 50 56.0 10.0
2 12 3NN+1 +3 630 60.0 6.0 9 76 3NO-1 +6 50 58.0 80|13 1 44 V-1 &3 50 56.0 10.0
19 70 3NS+1 &3 630 60.0 6.0(13 1 3NO-1 +6 50 58.0 80|15 74 44 V-1 *J 50 56.0 10.0
59 30 3NS+1 &J 630 60.0 6.0(47 54 3NO-1 +6 50 580 8019 70 44 V-1 vA 50 56.0 10.0
15 74 3NS= &3 600 52.0 14.0(55 34 3NO-1 +3 50 58.0 80|56 33 44 V-1 vA 50 56.0 10.0
31 58 3NS= &4 600 52.0 140|60 29 3NO-1 +6 50 58.0 80|59 30 44 V-1 48 50 56.0 10.0
50 51 3NS= LY 600 52.0 14.0(73 16 6% V-1 +4 50 58.0 80|63 26 44 V-1 vA 50 56.0 10.0
63 26 3NS= &4 600 52.0 14.0|59 30 2# O +2 &3 -130 49.0 17.0(71 18 4e V-1 vA 50 56.0 10.0
65 24 3NS= a4 600 52.0 14.0|72 17 3&V +1 v7 -130 49.0 17.0(72 17 44 V-1 &3 50 56.0 10.0
8 77 2N S +2 &3 180 46.0 20.0|71 18 2¢DS-2 &A -300 46.0 20.0 (75 14 4e V-1 vA 50 56.0 10.0
6 79 2v S+2 &3 170 43.0 230| 2 12 3NO= *7 -400 33.0 33.0( 3 11 34 V= +Q -140 41.0 25.0
28 61 3v S+1 &3 170 43.0 230( 4 10 3NO= +6 -400 33.0 33.0(60 29 3a4 V= vA -140 41.0 25.0
66 23 2N S +1 46 150 39.0 270 6 79 3NO= *7 -400 33.0 33.0(64 25 34 V= +Q -140 41.0 25.0
80 5 2NS+1 &3 150 39.0 27.0(19 70 3NO = *7 -400 33.0 33.0(68 21 34 V= &3 -140 41.0 25.0
4 10 24 N+1 *2 140 36.0 30.0|27 62 3NO= +9 -400 33.0 33.0(32 57 34 V+1 &T -170 35.0 31.0
7 78 2NS= &3 120 33.0 33.0(53 48 3NO= +4 -400 33.0 33.0(73 16 34 V+1 +Q -170 35.0 31.0
64 25 2N S= &Q 120 33.0 33.0(56 33 3NO= +6 -400 33.0 33.0( 4 10 44 V= +Q -420 19.0 47.0
32 57 INS= &3 90 30.0 36.0({64 25 3NO= +6 -400 33.0 33.0| 6 79 4e V= 48 -420 19.0 47.0
3 11 3NS-1 &3 -100 22.0 44.0|65 24 3NO= *7 -400 33.0 33.0( 7 78 44 V= vA -420 19.0 47.0
27 62 3NS-1 &3 -100 22.0 44.0|66 23 3NO= +9 -400 33.0 33.0( 8 77 44 V= &3 -420 19.0 47.0
47 54 3NS-1 &3 -100 22.0 44.0|67 22 3NO= +6 -400 33.0 33.0(27 62 44 V= vA -420 19.0 47.0
52 49 3NS-1 &4 -100 22.0 44.0|69 20 3NO= +6 -400 33.0 33.0(28 61 44 V= &2 -420 19.0 47.0
56 33 2N S-1 &3 -100 22.0 44.0| 3 11 3NO+1 +9 -430 15.0 51.0 (47 54 4 V= LY:] -420 19.0 47.0
60 29 3NS-1 &4 -100 22.0 44.0| 7 78 3NO +1 +6 -430 15.0 51.0 (50 51 44 V= &3 -420 19.0 47.0
71 18 3NS-1 &3 -100 22.0 44.0128 61 3NO+1 +6 -430 15.0 51.0(52 49 44 V= &3 -420 19.0 47.0
13 1 3NS-2 &3 -200 8.0 58.0|31 58 3N O +1 vQ -430 15.0 51.0(53 48 44 V= &3 -420 19.0 47.0
53 48 3NS-2 &6 -200 8.0 58.0(32 57 3NO+1 *4 -430 15.0 51.0(65 24 44 V= vA -420 19.0 47.0
55 34 3N S-2 &8 -200 8.0 58.0|75 14 3NO+1 +6 -430 15.0 51.0(67 22 44 V= vA -420 19.0 47.0
67 22 3NS-2 &3 -200 8.0 58.0|15 74 3N O +2 +6 -460 40 62.0(69 20 44 V= &3 -420 19.0 47.0
69 20 3N S-2 &3 -200 8.0 58.0(50 51 3N O +2 &6 -460 40 62.0|80 5 44 V= vA -420 19.0 47.0
73 16 3NS-2 &3 -200 8.0 58.0(52 49 3NV +2 a5 -460 40 62.0(55 34 44 V+1 vA -450 40 62.0
75 14 44D S-1 &4 -200 8.0 58.0|68 21 3NV +2 &3 -460 40 62.0(31 58 5vDN-2 a2 -500 1.0 65.0
68 21 3NN-3 &T -300 0.0 66.0(80 5 3NO+2 *7 -460 40 62.0(66 23 4vDN-2 v3 -500 1.0 65.0
16 4 K10764 17 & DKn952 18 & K8764
Vast v9 Nord vD1092 Ost v EK5
ov + D84 Ingen + KDKn NS + D98
#DKn76 &K 102
a5 & E832 «E103 « K84 & Kn95 & E1032
v DKn84 v E1062 v63 v KKn874 v1072 v3
¢ EKKn109 ¢ 653 4109432 875 *4 + E10753
&E94 #108 974 &Kn3 &#EKDKN93 #3876
« DKn9 476 «D
v K753 vE5 v DKn9864
*72 +E6 ¢ KKn62
&K532 &#ED108652 &54
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 77 4v V-3 LY 300 66.0 0.0|61 30 3NN+4 v8 520 65.0 1.0|61 30 2v S+1 &A 140 64.0 2.0
32 59 3NO-2 & Q 200 63.0 3.0|67 24 3NN+4 v4 520 65.0 1.0|68 23 2v N+1 v3 140 64.0 2.0
56 47 4v V-2 &Q 200 63.0 30| 8 78 3NN+3 +8 490 58.0 80|74 17 2v S+1 &A 140 64.0 2.0
80 6 24 N+1 +6 140 60.0 6.0| 9 77 3NN+3 v6 490 580 80| 9 77 54DV-1 vA 100 60.0 6.0
1 15 24 N= +3 110 55.0 11.0|32 59 3NN+3 v4 490 58.0 80|28 63 INO= v6 -90 58.0 8.0
16 75 24 N= +3 110 55.0 11.0|66 25 3NN +3 v7 490 580 80|16 75 3v N-1 »6 -100 54.0 12.0
61 30 24 N= +3 110 55.0 11.0|80 6 3NN+3 v7 490 58.0 80|64 27 3v N-1 &3 -100 54.0 12.0
74 17 24 N= +6 110 55.0 11.0| 1 15 3NS+2 *2 460 37.0 29.0|65 26 3v N-1 &7 -100 54.0 12.0
779 4v0O-1 «Q 100 46.0 20.0| 3 13 4ANN+1 +8 460 37.0 29.0| 1 15 44V +1 vA -150 42.0 24.0
8 78 4v O -1 «Q 100 46.0 20.0( 7 79 3NN +2 v4 460 37.0 29.0| 3 13 4eV+1 vA -150 42.0 24.0
14 2 49 0O-1 & Q 100 46.0 20.0 (28 63 3NN +2 &J 460 37.0 29.0| 5 11 4V +1 vA -150 42.0 24.0
66 25 4v O-1 «Q 100 46.0 20.0|29 62 3NN +2 *4 460 37.0 29.0| 7 79 2NV +1 a4 -150 42.0 24.0
70 21 4v V-1 LY 100 46.0 20.0 (33 58 3N S +2 +3 460 37.0 29.0(10 76 4% O +1 vA -150 42.0 24.0
65 26 34DN-1 +5 -100 40.0 26.0(48 55 3N S +2 v6 460 37.0 29.0|57 34 44 O +1 vA -150 42.0 24.0
64 27 3¢ V= v9 -110 38.0 28.0(51 52 3NN +2 *2 460 37.0 29.0|60 31 4%V +1 vA -150 42.0 24.0
54 49 2NO= «Q -120 35.0 31.0(53 50 3NN +2 +5 460 37.0 29.0|69 22 4« V+1 vA -150 42.0 24.0
68 23 INO +1 v5 -120 35.0 31.0(54 49 3NS+2 *T 460 37.0 29.0|72 19 4%V +1 vA -150 42.0 24.0
5 11 3¢ V+1 a7 -130 32.0 34.0(60 31 3NN+2 *7 460 37.0 29.0|70 21 3&V +3 vA -170 32.0 34.0
60 31 3v O= «Q -140 29.0 37.0(64 27 3NN +2 +8 460 37.0 29.0| 4 12 4v S-2 &A -200 25.0 41.0
69 22 3v V= rY! -140 29.0 37.0(65 26 3NN +2 *7 460 37.0 29.0(20 71 3v S-2 &K -200 25.0 41.0
313 3vO+1 «Q -170 25.0 41.0(68 23 3NS+2 +3 460 37.0 29.0|32 59 3v S-2 &A -200 25.0 41.0
28 63 3v V+1 &Q -170 25.0 41.0(73 18 3NN +2 +5 460 37.0 29.0|33 58 3v S-2 &A -200 25.0 41.0
33 58 3v V+2 a7 -200 22.0 44.0|74 17 3NS+2 +4 460 37.0 29.0|56 47 3v S-2 &A -200 25.0 41.0
53 50 44DN-2 +3 -300 19.0 47.0(69 22 3NS+1 *2 430 19.0 470|180 6 3vS-2 &A -200 25.0 41.0
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67 24 44DN-2 +6 -300 19.0 47.0(70 21 3NN+1 +8 430 19.0 47.0(66 25 34 N-3 &7 -300 18.0 48.0
29 62 44DN-3 +3 -500 16.0 50.0| 4 12 64 S-1 aA -50 10.0 56.0(14 2 5#V= +8 -400 13.0 53.0
10 76 4v O = «Q -620 9.0 57.0( 5 11 6 S-1 *T -50 10.0 56.0 (29 62 5#V = vA -400 13.0 53.0
20 71 4v O = *7 -620 9.0 57.0|10 76 44 N-1 +5 -50 10.0 56.0(51 52 5« O= v6 -400 13.0 53.0
48 55 4y O= 4Q -620 9.0 57.0(14 2 6NN-1 +8 -50 10.0 56.0(73 18 54 V= vA -400 13.0 53.0
51 52 4v O= &Q -620 9.0 57.0(20 71 6# S-1 v6 -50 10.0 56.0( 8 78 5& V +1 vA -420 7.0 59.0
72 19 4v O= «Q -620 9.0 57.0(56 47 6# S-1 v6 -50 10.0 56.0 (54 49 5#V +1 vA -420 7.0 59.0
73 18 4v O= 4Q -620 9.0 57.0(57 34 64 S-1 v4 -50 10.0 56.0 (48 55 54DV = vA -550 2.0 64.0
57 34 4v V + a4 -650 20 64.0(16 75 6% S-2 v6 -100 1.0 65.0|53 50 5DV = vA -550 2.0 64.0
4 12 2vyDV= &Q -670 0.0 66.0(72 19 6NS-2 2 -100 1.0 65.0|67 24 5DV = vA -550 2.0 64.0
19 «E85 20 4863 21 a54
Syd vKn43 Vast v D954 Nord vE9
oV + KKn108 Alla ¢ KKn8 NS + KD10987
#3865 D32 #E53
D72 4Kn643 aK52 aKn & K86 4 E109
vyKD5 v9762 v K103 v EKn86 v 65 v KDKn10842
¢ E964 ¢ D52 ¢+ ED92 4753 ¢ 62 +53
D107 &»E2 #Kn98 #EK1075 #KDKn987 &4
« K109 «ED10974 « DKn732
vE108 v72 v73
¢ 73 + 1064 ¢ EKn4
#KKn943 64 #1062
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
68 25 INRDS+1 ¢4 760 66.0 00| 4 14 4v O-2 v7 200 63.0 3.0|71 22 44 S= v2 620 66.0 0.0
34 59 3v0O-3 &3 300 620 40|15 3 3NV-2 48 200 63.0 3.0(11 76 5vDO-2 ¢A 300 63.0 3.0
58 47 2¢ V-3 &6 300 62.0 4.0|65 28 3NV-2 43 200 63.0 3.0|58 47 5¢DO-2 4Q 300 63.0 3.0
69 24 3v O-3 &3 300 620 4.0(67 26 3NV-2 48 200 63.0 3.0(66 27 4¢ N= &4 130 60.0 6.0
6 12 2NO-2 &4 200 55.0 11.0( 6 12 3v O-1 v2 100 54.0 12.0 (30 63 4v O-2 ¢A 100 56.0 10.0
61 32 2v O-2 *7 200 55.0 11.0|21 72 54 0-1 aA 100 54.0 12.0(67 26 4vDO-1 ¢ A 100 56.0 10.0
70 23 INV-2 *T 200 55.0 11.0 (57 48 3NV-1 a3 100 54.0 12.0|70 23 4vDO-1 *4 100 56.0 10.0
73 20 INV-2 *T 200 55.0 11.0(62 31 54 O-1 &3 100 540 120( 4 14 4v O-1 ¢A 50 46.0 20.0
9 78 INS+1 +6 120 47.0 19.0|69 24 54 O-1 aA 100 54.0 120 8 79 4v O-1 4Q 50 46.0 20.0
49 56 INS+1 +6 120 47.0 19.0(80 7 3NS-2 a3 -200 48.0 18.0|10 77 4v O-1 *A 50 46.0 20.0
65 28 INS+1 +6 120 47.0 190 9 78 3NV = 43 -600 41.0 25.0|17 1 4¢v0O-1 ¢A 50 46.0 20.0
80 7 INN+1 a5 120 47.0 19.0|10 77 3NO= 48 -600 41.0 25.0|29 64 4v O-1 ¢ A 50 46.0 20.0
54 51 3&S= vK 110 42.0 24.0(29 64 3NO= 49 -600 41.0 25.0|49 56 4v O-1 a2 50 46.0 20.0
216 2v0-1 *7 100 36.0 30.0 (30 63 3NV= 48 -600 41.0 25.0(62 31 4v O-1 ¢A 50 46.0 20.0
21 72 29 O -1 *4 100 36.0 30.058 47 5& O = v7 -600 41.0 25.0(65 28 3NN-1 vK -100 37.0 29.0
33 60 2v O-1 &3 100 36.0 30.0|61 32 3NV= a3 -600 41.0 25.0|80 7 3NN-1 vK -100 37.0 29.0
55 50 3v O-1 v8 100 36.0 30.0| 2 16 3NV +1 v4 -630 28.0 38.0| 5 13 3vO= v3 -140 31.0 35.0
74 19 INV-1 &8 100 36.0 30.0|52 53 3NV +1 a3 -630 28.0 38.0|68 25 3v O= ¢ A -140 31.0 35.0
4 14 24 S= vK 90 28.0 38.0|54 51 3NV +1 48 -630 28.0 38.0|73 20 3v O = ¢ A -140 31.0 35.0
8 79 INN= v6 90 28.0 38.0|66 27 3NV +1 v5 -630 28.0 38.0|75 18 3v O = *A -140 31.0 35.0
52 53 INN= v7 90 28.0 38.0|71 22 3NV +1 v3 -630 28.0 38.0| 2 16 3v O+1 ¢ A -170 23.0 43.0
5 13 INN-1 v6 -50 22.0 44.0|74 19 3NV +1 v5 -630 28.0 38.0|54 51 3v O +1 ¢ A -170 23.0 43.0
10 77 INN-1 vK -50 22.0 44.0|75 18 3NV +1 v5 -630 28.0 38.0|69 24 3v O +1 «Q -170 23.0 43.0
57 48 34 S-1 vK -50 22.0 44.0|55 50 4v O+1 v7 -650 19.0 47.0(74 19 3v O +1 ¢ A -170 23.0 43.0
15 3 INO-= &3 -90 18.0 48.0|68 25 4v O +1 »6 -650 19.0 47.0(21 72 5¢ N-2 vK -200 17.0 49.0
11 76 34 S-2 vK -100 12.0 54.0| 5 13 3NV +2 v6 -660 9.0 57.0|52 53 4¢ N-2 vK -200 17.0 49.0
62 31 3&S-2 vK -100 12.0 54.0| 8 79 3NV +2 LY:] -660 9.0 57.0| 6 12 5¢ N-3 &4 -300 12.0 54.0
66 27 2# S -2 vK -100 12.0 54.0(11 76 3NV +2 43 -660 9.0 57.0(33 60 5¢ N-3 vK -300 12.0 54.0
67 26 34 S-2 vK -100 12.0 54.0(17 1 3NV+2 v5 -660 9.0 57.0(34 59 44 S-3 v6 -300 12.0 54.0
71 22 24DS-1 vK -100 12.0 54.0(33 60 3NV +2 LY:] -660 9.0 57.0| 9 78 44 N-4 vK -400 8.0 58.0
17 1 INV+1 a5 -120 3.0 63.0(49 56 3NV +2 v4 -660 9.0 57.0(61 32 4v O= &2 -420 6.0 60.0
29 64 INV+1 +8 -120 3.0 63.0(70 23 3NV +2 v5 -660 9.0 57.0|15 3 4e¢DN-2 &4 -500 4.0 62.0
30 63 1INV +1 LY:] -120 3.0 63.0(73 20 3NV +2 v5 -660 9.0 57.0|55 50 4vDO= aJ -590 1.0 65.0
75 18 1INV +1 a5 -120 3.0 63.0(34 59 3NDV = a3 -750 0.0 66.0 (57 48 4vDO= 4Q -590 1.0 65.0
22 « D52 23 « KKn8 24 » K87
Ost v DKn1053 Syd v ED64 Vast v 84
ov ¢ Kn2 Alla ¢ DKn Ingen ¢ Kn109
D87 &KDKn3 &EKN1095
4 Kn763 & K1098 410963 D752 410964 #E3
v 982 v K6 v1073 vKKn9 vEKn2 ¥D109763
+ D93 + K106 ¢+ 64 + E1032 +KD52 4386
#953 #EKKn10 #9872 &54 #K8 £643
«E4 «E4 & DKn52
vE74 v 852 v K5
¢+ E8754 + K9875 ¢ E743
642 #E106 D72
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
317 INO-4 *4 400 66.0 00| 3 17 6NN= ¢A 1440 66.0 00|16 4 4&N-= aA 130 66.0 0.0
10 78 INO-3 +5 300 58.8 7.2| 5 15 3NN+2 rY:! 660 51.0 15.0|55 52 3& N-= +8 110 61.0 5.0
11 77 INO-3 *4 300 58.8 7.2| 9 79 3NN+2 a5 660 51.0 15.0|62 33 3& N= s A 110 61.0 5.0
22 73 INO-3 *4 300 588 7.2|116 4 3NN+2 +3 660 51.0 15.0|63 32 24 S= vA 110 61.0 5.0
69 26 INO-3 *4 300 58.8 7.2|18 2 3NN+2 a2 660 51.0 15.0(66 29 3& N-= aA 110 61.0 5.0
71 24 INO-3 *4 300 588 7.2|130 65 3NN+2 a2 660 51.0 150 5 15 3v O-1 &2 50 55.0 11.0
80 8 INO-3 *4 300 58.8 7.2|31 64 3NN+2 LY 660 51.0 150 9 79 4v 0O-1 46 50 55.0 11.0
16 4 INO-2 *4 200 50.5 155|34 61 3NS+2 46 660 51.0 15.0| 7 13 44 N-1 &3 -50 51.0 15.0
66 29 INO-2 +4 200 50.5 15547 60 3NN +2 a2 660 51.0 15.0(31 64 44 N-1 v9 -50 51.0 15.0
59 48 2v N+2 &A 170 474 18.6 (53 54 3NN +2 a2 660 51.0 15018 2 INO= *4 -90 46.0 20.0
58 49 2v N+1 &A 140 443 21.7|59 48 3NN +2 a2 660 51.0 15.0(22 73 INO= *4 -90 46.0 20.0
67 28 2v N+1 &A 140 443 21.7162 33 3NN+2 +3 660 51.0 150(80 8 INO= +6 -90 46.0 20.0
74 21 INN+1 &K 120 412 248166 29 3NN +2 a2 660 51.0 15.0(71 24 2v O= &2 -110 42.0 24.0
7 13 2v N= SA 110 38.2 27.8|69 26 3NN +2 +3 660 51.0 15.0(68 27 INO +1 *4 -120 40.0 26.0
34 61 2v N= &A 110 38.2 27.8|75 20 3NN+2 a5 660 510 150( 1 19 2v O+1 &2 -140 24.0 42.0
6 14 34 V-1 +*J 100 309 351| 6 14 3NN+1 a2 630 30.0 36.0( 3 17 3vO= &2 -140 24.0 42.0
9 79 24 V-1 vQ 100 309 351| 7 13 3NN+1 a7 630 30.0 36.0( 6 14 3v O= L Jo) -140 24.0 42.0
30 65 INO-1 +8 100 309 351|12 76 3NN+1 a5 630 30.0 36.0|10 78 3v O= &2 -140 24.0 42.0
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47 60 INO-1 *4 100 30.9 35.1(68 27 3NS+1 aT 630 30.0 36.0(11 77 2v O+1 45 -140 24.0 42.0
62 33 INO-1 +3 100 309 35.1(70 25 3NN+1 a2 630 30.0 36.0|34 61 3v O= »2 -140 24.0 42.0
31 64 2v N-1 &A -50 21.7 44.3|71 24 3NN+1 a5 630 30.0 36.0 (47 60 2v O+1 »2 -140 24.0 42.0
55 52 INS-1 &4 -50 21.7 44.3|74 21 3NN+1 2 630 30.0 36.0(53 54 3v O= *2 -140 24.0 42.0
63 32 2v N-1 &A -50 21.7 443| 1 19 3NS= 43 600 20.0 46.0|56 51 3v O= +Q -140 24.0 42.0
68 27 3¢ S-1 v9 -50 21.7 443|58 49 3NS= aT 600 20.0 46.0(67 28 3v O= »2 -140 24.0 42.0
119 INO= ¢+4 -90 124 536(80 8 3NS= a5 600 20.0 46.0|69 26 2v O +1 *Q -140 24.0 42.0
18 2 INO= +4 -90 124 53.6|10 78 5NN-1 vT -100 14.0 52.0|70 25 2v O +1 *2 -140 24.0 42.0
56 51 INO= ¢4 -90 124 53.6|22 73 6NS-1 *9 -100 14.0 52.0|72 23 3v O= +Q -140 24.0 42.0
72 23 INO= 2 -90 124 53.6 |55 52 4NS-1 &7 -100 14.0 52.0|74 21 3v O= +Q -140 24.0 42.0
75 20 INO= +4 -90 124 536 (|11 77 6NS-2 aT -200 7.0 59.0|75 20 3v O= +Q -140 24.0 42.0
12 76 24 O= *6 -110 5.2 60.8|50 57 6NN -2 *5 -200 7.0 59.0|12 76 2v O +2 *2 -170 5.0 61.0
50 57 24 V= +J -110 5.2 60.8|63 32 6NS-2 aT -200 7.0 59.0|30 65 2v O +2 a2 -170 5.0 61.0
70 25 INO +1 *2 -120 2.1 63.9|72 23 6NN-2 2 -200 7.0 59.0|50 57 2v O +2 *2 -170 5.0 61.0
5 15 INO +2 +4 -150 0.0 66.0|56 51 6NN -3 &5 -300 1.0 65.0|58 49 3v V+1 a7 -170 5.0 61.0
53 54 A+/A= 39.6 33.0|67 28 6NS-3 aT -300 1.0 65.0|59 48 2¢DO+1 &2 -570 0.0 66.0
25 494 26 « K10 27 #1032
Nord v D653 Ost v K98 Syd v 5432
oV + K76 Alla + K86 Ingen ¢ E93
#K952 #D7542 #ED2
4 Kn7 4 D103 « DKn9 4 E43 4Kn9876 &4
v K87 v Kn1042 vKnl07542 vE63 vEKKn  vD987
+Kn952 +E4 +3 + DKn975 ¢ D652 + 874
#EKn104 #D876 K93 108 3 #KKn1085
+ EK8652 4 87652 « EKD5
vE9 vD v 106
+ D1083 ¢ E1042 ¢ KKn10
&3 #EKn6 £9764
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
10 79 24 N+3 v7 200 66.0 0.0(69 28 2NS= ¢Q 120 66.0 00| 2 20 3NDV -4 a2 800 66.0 0.0
19 3 34 S+l 3 170 580 8019 3 24 S= vJ] 110 62.0 4.0(57 52 14DV -2 v3 300 640 20
23 74 24 S+2 ¢+5 170 58.0 8.0(47 62 3& N= ¢+Q 110 62.0 4.0(67 30 INN+3 3 180 62.0 4.0
51 58 24 S+2 a2 170 58.0 8.0|56 53 1a S+1 +3 110 62.0 4.0| 8 14 24 V-3 *A 150 59.0 7.0
63 34 24 S+2 v7 170 580 80| 121 3vV-1 &K 100 570 9.0(68 29 24 V-3 +3 150 590 7.0
67 30 24 S+2 2 170 58.0 8.0(10 79 3v O-1 »2 100 570 9.0( 6 16 INN+1 &T 120 45.0 21.0
68 29 24 S+2 v7 170 58.0 8.0|31 66 2# S= v] 90 540 12.0( 7 15 INN+1 &5 120 45.0 21.0
72 25 24 S+2 2 170 58.0 8.0(67 30 14 S= +3 80 51.0 15.0(10 79 INN+1 +5 120 45.0 21.0
20 2 24 S+1 v3 140 35.0 31.0(70 27 14 S= +3 80 51.0 15.0(11 78 INN+1 &T 120 45.0 21.0
4 18 24 S+1 &A 140 35.0 31.0( 7 15 Pass 44.0 22.0(12 77 INN+1 &T 120 45.0 21.0
6 16 34 S= LN 140 35.0 31.0 (13 76 Pass 440 22.0(13 76 INN+1 46 120 45.0 21.0
7 15 34 S= v7 140 35.0 31.0 (23 74 Pass 440 220(17 5 INN+1 &T 120 45.0 21.0
12 77 24 S+1 v7 140 35.0 31.0|71 26 Pass 44.0 22.0(51 58 INS+1 vA 120 45.0 21.0
13 76 24 N+1 v7 140 35.0 31.0 (73 24 Pass 44.0 22.0(60 49 INN+1 8 120 45.0 21.0
32 65 24 S+1 v7 140 350 31.0( 8 14 3« N-1 +Q -100 34.0 32.0|64 33 INS+1 vA 120 45.0 21.0
59 50 24 S+1 +5 140 35.0 31.0|54 55 2&# N-1 +Q -100 34.0 32.0|69 28 INS+1 a2 120 45.0 21.0
60 49 34 S= v7 140 35.0 31.0 (60 49 24 S-1 va -100 34.0 320|800 9 2NS= 46 120 45.0 21.0
64 33 24 S+1 a7 140 35.0 31.0(68 29 3NN-1 ¢+5 -100 34.0 32.0|75 22 2v O-2 4 A 100 32.0 34.0
69 28 34 S= a7 140 350 31.0|80 9 3&#N-1 ¢+5 -100 34.0 32.0| 1 21 INS= vK 90 22.0 44.0
70 27 34 S= aJ 140 350 31.0(72 25 INO +1 a2 -120 28.0 38.0|31 66 INN-= &5 90 22.0 44.0
71 26 24 S+1 2 140 35.0 31.0( 4 18 2v V+1 +K -140 22.0 44.0|32 65 INS= a7 90 22.0 44.0
73 24 24 S+1 +5 140 350 31.0(32 65 3v V= a K -140 22.0 44.0|47 62 INN= a4 90 22.0 44.0
75 22 24 S+1 ¢+5 140 35.0 31.0(59 50 3v V= *2 -140 22.0 44.0|54 55 INS= a7 90 22.0 44.0
80 9 24 S+1 aJ 140 35.0 31.0(64 33 3v V= +K -140 22.0 44.0|59 50 INS= ¢+5 90 22.0 44.0
121 24 S= aJ 110 15.0 51.0|75 22 2v V+1 &K -140 22.0 44.0|70 27 INN= &T 90 22.0 44.0
31 66 24 S= ¢+5 110 150 51.0| 2 20 3v V+1 &K -170 9.0 57.0|71 26 INS= a7 90 22.0 44.0
47 62 24 S= +5 110 15.0 51.0| 6 16 2v V+2 &K -170 9.0 57.0|72 25 INS= a7 90 22.0 44.0
57 52 24 S= &T 110 15.0 51.0|11 78 2v V +2 »2 -170 9.0 57.0| 4 18 1la V-1 ¢ A 50 11.0 55.0
8 14 3NN-1 *6 -50 8.0 58.0|12 77 2v V+2 +6 -170 9.0 57.0(23 74 2¢ V-1 v5 50 11.0 55.0
17 5 3NN-1 v4 -50 8.0 58.0|17 5 2v O+2 48 -170 9.0 57.0(19 3 2&#S-1 vA -50 4.0 62.0
54 55 44 S-1 a7 -50 8.0 58.0(48 61 2v O +2 48 -170 9.0 57.0|48 61 2NS-1 ¢5 -50 4.0 62.0
11 78 44 S-2 ¢+5 -100 2.0 64.0|57 52 3v O +1 &K -170 9.0 57.0|56 53 2NS-1 vA -50 4.0 62.0
48 61 34 S-2 aJ -100 2.0 64.0|63 34 2v V+2 »2 -170 9.0 57.0|63 34 2NS-1 42 -50 4.0 62.0
56 53 44 S-2 ] -100 2.0 64.0|51 58 2¢DV+1 &K -870 0.0 66.0|73 24 INN-1 &T -50 4.0 62.0
28 #9543 29 « EKD8 30  Kn6
Vast v 843 Nord v 1032 Ost v KKn96
NS ¢ E643 Alla ¢ EKn43 Ingen ¢ DKn43
#Kn10 *97 #Kn104
4 EKnB82 476 a5 442 «D5 497
vKn75 vED1096 vEDKn8 ¢97 v8754  v102
¢+D109 72 +D987  +106 ¢ EK985 410762
*K62 #D954 #EKn42 #KD108653 *76 #KD983
« KD10 4« Kn109763 « EK108432
vK2 v K654 vED3
¢ KKn85 ¢ K52 ¢-
#E873 LE #E52
Par  Kontr ut Res Poéang Par  Kontr ut Res Poang Par  Kontr ut Res Poéang
7 17 INS+1 48 120 63.0 3.0 2 22 44 N+1 &K 650 590 7.0(14 76 64 S= &7 980 63.0 3.0
18 6 INS+1 a2 120 63.0 3.0 9 15 44 N+1 v9 650 59.0 7.0(48 63 64 S= ¢ A 980 63.0 3.0
24 75 INS+1 a2 120 63.0 3.0|33 66 44 S+1 a5 650 59.0 7.0|71 28 64 N= &K 980 63.0 3.0
73 26 INS+1 a2 120 63.0 3.0(48 63 54 S= vA 650 59.0 7.0(80 10 64 S= ¢ A 980 63.0 3.0
61 50 24 N= ¢7 110 58.0 8.0(61 50 54 N= *T 650 59.0 7.0 5 19 44 S+3 v7 510 58.0 8.0
123 3vxDO-1 oK 100 55.0 11.0|65 34 54 N= &K 650 590 7.0( 1 23 44 S+2 ¢ A 480 31.0 35.0
12 78 3NV-2 +4 100 55.0 11.0 (72 27 44 N+1 +K 650 50.0 7.0 3 21 44 S+2 ¢ A 480 31.0 35.0
9 15 INS= a2 90 47.0 19.0(80 10 44 N +1 +K 650 59.0 7.0( 7 17 44 S+2 v8 480 31.0 35.0
20 4 INS= 8 90 47.0 19.0| 7 17 44 N= v9 620 40.0 26.0( 8 16 44 S+2 +K 480 31.0 35.0
58 53 INS= a2 90 47.0 19.0|11 79 44 N= &K 620 40.0 26.0| 9 15 4v S+2 ¢ A 480 31.0 35.0
69 30 INS= a2 90 47.0 19.0|12 78 44 N= &K 620 40.0 26.0 |11 79 44 S+2 ¢ A 480 31.0 35.0
72 27 2¢ S= »2 90 47.0 19.0|18 6 44 N= a2 620 40.0 26.0(12 78 44 S+2 ¢ A 480 31.0 35.0
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74 25 INS= a2 90 47.0 19.0|120 4 44 S= &A 620 40.0 26.0|13 77 44 S+2 *A 480 31.0 35.0
13 77 2v0O-1 &K 50 36.0 30.0|24 75 44 N= &K 620 40.0 26.0|18 6 44 S+2 ¢ A 480 31.0 35.0
14 76 3v O-1 4 K 50 36.0 30.0|49 62 44 S= &A 620 40.0 26.0{20 4 44 S+2 *A 480 31.0 35.0
52 59 3v O0-1 &K 50 36.0 30.0|58 53 44 S= &A 620 40.0 26.0|24 75 44 S+2 ¢ A 480 31.0 35.0
57 54 2NV -1 a4 50 36.0 30.0|70 29 44 N= v9 620 40.0 26.0|33 66 44 N +2 a7 480 31.0 35.0
60 51 3v V-1 LN 50 36.0 30.0|71 28 44 S= 2 620 40.0 26.0|49 62 44 S+2 *A 480 31.0 35.0
11 79 INV = a4 -90 29.0 37.0|73 26 44 N= &K 620 40.0 26.0|52 59 44 S+2 *A 480 31.0 35.0
64 47 INO= &K -90 29.0 37.0|68 31 54D O-1 +2 200 28.0 38.0|55 56 44 N+2 &K 480 31.0 35.0
519 34 N-1 a7 -100 22.0 44.0|32 67 34 S+1 45 170 26.0 40.0 (57 54 44 N+2 *A 480 31.0 35.0
33 66 INS-1 v5 -100 22.0 44.0(69 30 44 O-1 aJ 100 24.0 42.0|58 53 44 S +2 ¢ A 480 31.0 35.0
55 56 INS-1 48 -100 22.0 440 1 23 54 N-1 v2 -100 17.0 49.0 |60 51 44 S+2 &7 480 31.0 35.0
70 29 INS-1 a2 -100 22.0 440| 3 21 54 S-1 »A -100 17.0 49.0|61 50 44 S+2 *A 480 31.0 35.0
71 28 14 S-1 +9 -100 22.0 44.0| 8 16 54 S-1 a5 -100 17.0 49.0 |64 47 44 S+2 *+ K 480 31.0 35.0
321 2v0= &K -110 15.0 51.0(55 56 54 N-1 &K -100 17.0 49.0 |65 34 44 S+2 ¢ A 480 31.0 35.0
65 34 2v O= 4 K -110 15.0 51.0 (57 54 54 N-1 »A -100 17.0 49.0|68 31 44 S+2 *A 480 31.0 35.0
222 3v0O= &K -140 8.0 58.0|64 47 44 N-1 &K -100 17.0 49.0 (69 30 44 S+2 ¢ A 480 31.0 35.0
8 16 2v O +1 &K -140 8.0 58.0|52 59 3# O +1 v5 -130 10.0 56.0 |70 29 44 S+2 &7 480 31.0 35.0
48 63 2v O +1 4 K -140 8.0 58.0| 5 19 34 0O +2 aJ -150 8.0 58.0|72 27 44 S+2 *A 480 31.0 35.0
49 62 2v O+1 &K -140 8.0 58.0|13 77 64 N-2 &K -200 5.0 61.0|74 25 44 S+2 *A 480 31.0 35.0
68 31 2v O+1 +8 -140 8.0 58.0|74 25 54D N-1 &K -200 5.0 61.0|32 67 44 S+1 ¢ A 450 4.0 62.0
80 10 2N S-2 v5 -200 2.0 64.0|60 51 5# O = aJ -600 20 64.0| 2 22 44 S= ¢ A 420 2.0 64.0
32 67 34DN-2 *7 -500 0.0 66.0(14 76 54DN-3 v9 -800 0.0 66.0(73 26 34 S+3 *A 230 0.0 66.0
31 « E842 32 «E4 33 «10
Syd vD76 Vast vD2 Nord v EKn742
NS ¢ Kn54 ov ¢+ EKD2 Ingen ¢ E987
763 #KDKn62 #KDKn
& K7 4 D65 483 4« KDKn9762 4 ED9874 4K3
vE10854 ¥Kn92 vE8654 v10 vK v D10953
*+K + 876 ¢ Kn973 ¢ 10654 + 106 + Kn532
#EKKn42 #D1098 »87 &5 #E952 *84
4« Kn1093 105 & Kn652
vK3 v KKn973 v 86
+ ED10932 +8 + KD4
&5 #E10943 £10763
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
80 11 34 S+1 &A 170 66.0 00| 3 23 64 N= &K 920 62.0 4.0(65 48 24DV-1 &K 100 66.0 0.0
75 26 5# 0 -2 &5 100 64.0 20| 4 22 64 N-= &K 920 62.0 4.0|59 54 INN= ¢2 90 64.0 20
6 20 54 O-1 aJ 50 56.0 10.0|25 1 6& N= &K 920 620 40| 4 22 34 V-1 &K 50 60.0 6.0
33 68 4v V-1 +J 50 56.0 10.0 (34 67 6&# N= &K 920 62.0 40|10 16 24 O-1 &K 50 60.0 6.0
66 47 4v O-1 &5 50 56.0 10.0 (80 11 6% N= &K 920 62.0 40|34 67 24 V-1 &K 50 60.0 6.0
69 32 4v V-1 *4 50 56.0 10.0( 8 18 34DO-2 +8 500 53.0 13.0| 3 23 INN-1 +3 -50 47.0 19.0
71 30 INV-1 +4 50 56.0 10.0 (10 16 34D O-2 +8 500 53.0 13.0| 9 17 2v N-1 &8 -50 47.0 19.0
73 28 540 -1 *A 50 56.0 10.0(13 78 34D O -2 +6 500 53.0 13.0|13 78 2v N-1 &8 -50 47.0 19.0
74 27 440 -1 *A 50 56.0 10.0|19 7 34DO-2 +8 500 53.0 13.0|19 7 3v N-1 &8 -50 47.0 19.0
10 16 3«0 = *6 -110 48.0 18.0|75 26 3NN +2 a K 460 48.0 18.0|33 68 2¢ N-1 &8 -50 47.0 19.0
9 17 44 0= aJ -130 41.0 25.0(21 5 4v S+1 48 450 450 21.0|49 64 2v N-1 &8 -50 47.0 19.0
14 77 44 O = aJ -130 41.0 25.0(72 29 4v N+1 &3 450 45.0 21.0|50 63 2v N-1 &8 -50 47.0 19.0
21 5 44 0-= aJ -130 41.0 25.0|53 60 3NN+1 &K 430 40.0 26.0|58 55 2v N-1 &T -50 47.0 19.0
49 64 3# 0O +1 aJ -130 41.0 25.0|58 55 3NN +1 &K 430 40.0 26.0|69 32 2v N-1 &8 -50 47.0 19.0
61 52 3&# O +1 &5 -130 41.0 25.0|65 48 3NN +1 &K 430 40.0 26.0|72 29 3¢ N-1 &8 -50 47.0 19.0
62 51 4a V= +J -130 41.0 25.0| 6 20 4v S= 48 420 30.0 360 2 24 4v N-2 &T -100 29.0 37.0
2 24 3v V= aA -140 32.0 34.0(12 79 5& N+1 &K 420 30.0 36.0| 6 20 3NS-2 &5 -100 29.0 37.0
8 18 3v V= *J -140 32.0 34.0|14 77 5& N+1 &K 420 30.0 36.0 |56 57 3¢ N-2 &8 -100 29.0 37.0
65 48 3v V= *4 -140 32.0 34.0(15 76 4v S= 48 420 30.0 36.0 |61 52 3¢ N-2 a K -100 29.0 37.0
3 23 2vV+2 *4 -170 20.0 46.0 |33 68 4v S= &K 420 30.0 36.0 |66 47 3v N-2 &K -100 29.0 37.0
4 22 29V +2 ¢+ 4 -170 20.0 46.0 (49 64 4v S= 48 420 30.0 36.0|70 31 2v N-2 &8 -100 29.0 37.0
19 7 2v V+2 *2 -170 20.0 46.0 (56 57 5# N +1 &K 420 30.0 36.0|71 30 3v N-2 &A -100 29.0 37.0
25 1 3vO+1 aJ -170 20.0 46.0|71 30 5# N = vT 400 22.0 440|73 28 24 N-2 &3 -100 29.0 37.0
34 67 2v V+2 *4 -170 20.0 46.0| 2 24 64 N-1 vT -50 13.0 53.0(75 26 24 V= &K -110 19.0 47.0
53 60 3v O+1 aJ -170 20.0 46.0| 9 17 6#S-1 vA -50 13.0 53.0(80 11 2a V= *Q -110 19.0 47.0
58 55 3v V+1 aA -170 20.0 46.0|50 63 6v S-1 48 -50 13.0 53.0(12 79 2NN-3 &K -150 15.0 51.0
70 31 3v V+1 +4 -170 20.0 46.0 (59 54 4NN-1 &K -50 13.0 53.0(74 27 4v N-3 &8 -150 15.0 51.0
72 29 3v V+1 *4 -170 20.0 46.0|61 52 6v S-1 a2 -50 13.0 53.0(14 77 3vDN-2 &K -300 8.0 58.0
13 78 4v V= *4 -420 8.0 58.0|62 51 6# N-1 v5 -50 13.0 53.0(21 5 3vDN-2 &K -300 8.0 58.0
15 76 4v V= *J -420 8.0 58.0|66 47 6# N-1 vT -50 13.0 53.0(25 1 3vDN-2 &K -300 8.0 58.0
56 57 4y V= *J -420 8.0 58.0|74 27 64 N-1 vT -50 13.0 53.0(53 60 3vDN-2 &K -300 8.0 58.0
12 79 4v V +1 aA -450 40 62.0(69 32 6vyDS-1 &8 -100 40 62.0(62 51 3¢DN-2 &K -300 8.0 58.0
50 63 4vDV= *4 -590 1.0 65.0|70 31 5¢ S-4 48 -200 20 64.0| 8 18 3NDS-3 &5 -500 1.0 65.0
59 54 4vDV= +4 -590 1.0 65.0|73 28 64 S-7 48 -350 0.0 66.0(15 76 3vDN-3 s K -500 1.0 65.0
34 « DKn3 35 a74 36 4109863
Ost vD9 Syd v E843 Vast v 96
NS 49864 ov *2 Alla ¢ KKn54
£KKn84 &EKD754 &73
4872 1094 4 E95 & DKn832 aKn542 & K7
vEKn652 10743 v6 v D109 vK103 v EDKn854
*+ K + ED7 ¢ EK76543 ¢ DKn10 49763 ¢ 10
#9532 &E107 93 &Kn6 296 #ED108
« EK65 « K106 «ED
v K8 v KKn752 v72
¢ Kn10532 498 + ED82
&D6 #1082 #KKn542
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
325 INN= v3 90 56.0 10.0 (67 48 5vDN+1 ¢Q 750 66.0 0.0(54 61 4v O-2 v2 200 65.0 1.0
4 24 INN= v3 90 56.0 10.0|16 76 5vDS= aA 650 64.0 20|80 12 4vDO-1 v7 200 65.0 1.0
7 21 INN= aT 90 56.0 10.0 |50 65 5&#D N = ¢+Q 550 62.0 4.0(16 76 34 N= vA 140 62.0 4.0
10 18 INN= v4 90 56.0 10.0| 1 27 5v N+1 +Q 480 580 80| 9 19 24 N= *T 110 60.0 6.0
11 17 2¢ S= v6 90 56.0 10.0|59 56 4v N +2 ¢+Q 480 580 80| 1 27 4v0-1 v7 100 50.0 16.0
20 8 24 S= &3 90 56.0 10.0 (62 53 4v N +2 ¢+Q 480 580 80| 523 4v0-1 v2 100 50.0 16.0
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26 2 INN= v3 90 56.0 10.0| 4 24 4v S+1 *A 450 54.0 12.0(13 79 4v O-1 v3 100 50.0 16.0
70 33 2¢ S= 48 90 56.0 10.0 (11 17 4v S= ¢ A 420 49.0 17.0 (47 68 4v O-1 »2 100 50.0 16.0
72 31 INN= v4 90 56.0 10.0 (51 64 4v S= 2 420 49.0 17.0(51 64 4v O-1 v2 100 50.0 16.0
74 29 2¢ S= vA 90 56.0 10.0 (63 52 4v N= ¢+Q 420 49.0 17.0|57 58 4v O-1 v7 100 50.0 16.0
80 12 INN= v4 90 56.0 10.0|66 49 4v S= ¢ A 420 49.0 17.0(66 49 4v O-1 v2 100 50.0 16.0
51 64 3v V-1 +6 50 43.0 230 5 23 44 O-2 »2 200 41.0 25.0(67 48 4v O-1 v2 100 50.0 16.0
66 49 3v V-1 +Q 50 43.0 23.0|22 6 44 O-2 *2 200 41.0 25.0|71 32 4v O-1 v7 100 50.0 16.0
523 3¢ S-1 a7 -100 32.0 34.0 |47 68 5¢ V-2 A 200 410 250(26 2 3¢ S-1 v3 -100 40.0 26.0
13 79 34 S-1 vA -100 32.0 34.0|57 58 5¢ V-2 &A 200 41.0 250| 3 25 3v O= v7 -140 35.0 31.0
14 78 3¢ S-1 vA -100 32.0 34.0|72 31 44 N+1 ¢+Q 150 340 32.0(34 69 3v O= v7 -140 35.0 31.0
16 76 3¢ S-1 &5 -100 32.0 34.0|73 30 3& N+2 ¢+Q 150 34.0 32.0|60 55 2v O +1 v5 -140 35.0 31.0
22 6 INN-1 v3 -100 32.0 34.0(80 12 44 N+1 ¢+Q 150 340 32072 31 2v O+1 v7 -140 35.0 31.0
34 69 34 S-1 vA -100 32.0 34.0|54 61 44 N= ¢+Q 130 30.0 36.0( 4 24 3v O+1 v7 -170  29.0 37.0
50 65 INN-1 v3 -100 32.0 34.0(13 79 44 V-1 »2 100 240 42.0(62 53 2v O +2 v7 -170  29.0 37.0
57 58 34 S-1 48 -100 32.0 34.0(14 78 4¢ V-1 &A 100 240 420| 7 21 54 S-2 v2 -200 20.0 46.0
60 55 3¢ S-1 48 -100 32.0 34.0|60 55 4¢ V-1 A 100 240 42011 17 3#S-2 vK -200 20.0 46.0
127 2v V= +Q -110 22.0 44.0|70 33 44 O-1 »2 100 24.0 42.0|15 77 44DN-1 &A -200 20.0 46.0
9 19 2NO= +J -120 20.0 46.0|74 29 5¢ V-1 &A 100 240 420(20 8 2v O+3 4 A -200 20.0 46.0
47 68 2v V +1 +9 -140 14.0 52.0| 3 25 44 N-1 +Q -50 17.0 49.0 (59 56 34 N-2 *T -200 20.0 46.0
54 61 3v V= +9 -140 14.0 52.0| 7 21 44 N-1 +Q -50 17.0 49.0(74 29 3#S-2 v3 -200 20.0 46.0
63 52 3v V= +6 -140 140 52.0|26 2 54D N-1 4Q -100 13.0 53.0|75 28 3v O +2 4 A -200 20.0 46.0
67 48 3v V= +6 -140 14.0 52.0|71 32 54D N-1 a2 -100 13.0 53.0|73 30 3&S-4 vT -400 12.0 54.0
71 32 3v V= +6 -140 14.0 52.0|10 18 3¢ O= A -110 9.0 57.0|70 33 4v O= »2 -620 10.0 56.0
59 56 3v V+1 v9 -170 8.0 58.0|15 77 2¢ V+1 »A -110 9.0 57.0|10 18 4vDO= 4 A -790 7.0 59.0
62 53 44 S-2 a7 -200 5.0 61.0|34 69 34 O+1 *2 -170 5.0 61.0|63 52 4¢vDO= s A -790 7.0 59.0
73 30 5¢ S-2 vA -200 5.0 61.0|75 28 34 O +1 &T -170 5.0 61.0|22 6 5¢DS-3 vK -800 4.0 62.0
15 77 4¢DS-2 a2 -500 2.0 64.0| 9 19 54D N-2 ¢ A -300 1.0 65.0(50 65 5vDO = 4 A -850 2.0 64.0
75 28 5¢DS-3 &3 -800 0.0 66.0|/20 8 5&DN-2 +Q -300 1.0 65.0|14 78 4vDO+1 &A -990 0.0 66.0
37 « D10942 38 « KD10 39 « D962
Nord v 96 Ost v KKn105 Syd v E865
NS ¢ 106 ov ¢ EKn7 Alla ¢+ K
#KD103 #KKn9 #EKN93
43 4 Kn75 « Kn9 4 8542 4 EKn104 4853
v 875 v EKD102 vE74 vD3 v DKn3 v42
¢ K9874 ¢ E32 4953 + KD1084 97 + E863
#9874  #Kné #D10854 #63 210765 &D842
+« EK86 « E763 K7
vKn43 v 9862 v K1097
¢ DKn5 ¢ 62 ¢ DKn10542
&E52 &E72 &K
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
75 30 44 N= vA 620 66.0 00| 1 29 3NS+2 »2 460 66.0 00| 5 25 4v N+1 a5 650 62.0 4.0
67 50 5¢vDO -2 s A 300 640 20| 8 22 3NN+1 ¢+ K 430 61.0 5.0(47 70 4v N+1 &4 650 62.0 4.0
68 49 34 S+1 vA 170 61.0 50(21 9 3NN+1 ¢+ K 430 61.0 5.0(51 66 4v N+1 a2 650 62.0 4.0
74 31 34 N+1 vA 170 61.0 5.0(52 65 3NN+1 ¢+ K 430 61.0 5.0(52 65 4v N+1 v2 650 62.0 4.0
129 24 N+1 vA 140 43.0 23.0(67 50 3NN+1 ¢*4 430 61.0 5.0(74 31 4v N+1 v2 650 62.0 4.0
2 28 34 N= vA 140 43.0 23.0| 2 28 4v N= ¢+ K 420 39.0 27.0|23 7 3NN+1 &4 630 55.0 11.0
11 19 34 N= vA 140 43.0 230| 5 25 4v N= +K 420 39.0 27.0(67 50 3NN+1 v4 630 55.0 11.0
12 18 24 N+1 vA 140 43.0 23.0|10 20 4v N= Ly 420 39.0 270 1 29 4v N= &4 620 33.0 33.0
15 78 34 N= vA 140 43.0 23.0|11 19 4v N= *6 420 39.0 270 2 28 4v N= &4 620 33.0 33.0
21 9 34 N= vA 140 43.0 23.0(14 79 4v S= aJ 420 39.0 27.0| 8 22 4v N= &4 620 33.0 33.0
23 7 24 N+1 vA 140 43.0 23.0(16 77 4v S= ¢*4 420 39.0 27.0(10 20 4v N= 3 620 33.0 33.0
47 70 24 N+1 vA 140 43.0 23023 7 4vy N= ¢+ K 420 39.0 27.0 (11 19 4v N= v2 620 33.0 33.0
48 69 24 N +1 vA 140 43.0 23.0|127 3 4vy N= ¢+ K 420 39.0 27.0(12 18 4v N= &4 620 33.0 33.0
52 65 34 S= v5 140 43.0 23.0|47 70 4v N= ¢+ K 420 39.0 27.0(14 79 4v N= v3 620 33.0 33.0
55 62 34 N= vA 140 43.0 23.0|58 59 4v N= ¢+ K 420 39.0 27.0(15 78 4v N= &4 620 33.0 33.0
58 59 34 S= v4 140 43.0 23.0|60 57 4v N= ¢+ K 420 39.0 27.0(16 77 4v N= &4 620 33.0 33.0
61 56 34 N= vA 140 43.0 23.0|61 56 4v N= ¢+ K 420 39.0 27.0(21 9 4v S= & A 620 33.0 33.0
63 54 34 N= vA 140 43.0 23.0(63 54 4v S= aJ 420 39.0 27.0 (48 69 4v N= &4 620 33.0 33.0
64 53 24 S+1 &3 140 43.0 23.0|64 53 4v N= ¢+ K 420 39.0 27.0 (58 59 4v N= 48 620 33.0 33.0
72 33 34 N= vA 140 43.0 23.0|71 34 4v N= &K 420 39.0 27.0 (60 57 4v N= &4 620 33.0 33.0
4 26 INO-1 s A 50 26.0 40.0(73 32 4v N= *6 420 39.0 27.0 (61 56 4v N= &4 620 33.0 33.0
525 44 N-1 vQ -100 20.0 46.0|74 31 4v N= *6 420 39.0 27.0|63 54 4v N= v4 620 33.0 33.0
8 22 44 N-1 vA -100 20.0 46.0|80 13 4y N= ¢+ K 420 39.0 27.0(64 53 4v N= &3 620 33.0 33.0
17 76 44 N-1 vA -100 20.0 46.0|48 69 3NN-= ¢+ K 400 20.0 46.0 (68 49 4v N= &4 620 33.0 33.0
51 66 44 N-1 43 -100 20.0 46.0(68 49 3v N +1 &4 170 17.0 49.0|71 34 4y N= »2 620 33.0 33.0
60 57 44 N-1 vA -100 20.0 46.0 |72 33 2v N+2 ¢+ K 170 17.0 49.0|72 33 4y N= &4 620 33.0 33.0
80 13 3¢ V= &K -110 14.0 52.0| 4 26 2v N= ¢+ K 110 14.0 52.0|80 13 4y N= 43 620 33.0 33.0
16 77 INO+1 &K -120 12.0 54.0| 6 24 INN-1 ¢+ K -50 10.0 56.0 (27 3 3NN= &4 600 11.0 55.0
10 20 3v O = s A -140 8.0 58.0|15 78 4v N-1 ¢+ K -50 10.0 56.0 (75 30 3NN= *2 600 11.0 55.0
71 34 2v O+1 &K -140 8.0 58.0|75 30 5v N-1 ¢+ K -50 10.0 56.0 6 24 3v S+1 &5 170 8.0 58.0
73 32 2v O+1 4 A -140 8.0 58.0(12 18 4v N-2 ¢+ K -100 3.0 63.0|55 62 2¢ S+2 v 130 6.0 60.0
14 79 3v O +1 s A -170 3.0 63.0|17 76 3NN-2 ¢+ K -100 3.0 63.0| 4 26 3NN-1 &4 -100 2.0 64.0
27 3 2v O+2 aA -170 3.0 63.0|51 66 6¥ S-2 8 -100 3.0 63.0(17 76 4v S-1 *6 -100 2.0 64.0
6 24 4v O +1 aA -450 0.0 66.0|55 62 3NN-2 ¢+ K -100 3.0 63.0(73 32 4vS-1 aT -100 2.0 64.0
40 K52 41 K743 42 #9432
Vast v EKD832 Nord vE32 Ost vD4
Ingen +6 ov ¢ E97 Alla + D74
#KKn9 #KD5 #DKn62
764 « D103 aDKn2 #1086 46 « EDKn105
v97 vKn v KDKn6 v 109754 vK975 v Knl082
+ D85 + EKKn932 ¢ DKn10 ¢ K53 + K8652 +¢103
#ED764 #1085 #432 *97 #E53 *97
« EKn98 « E95 « K87
v 10654 v8 vE63
¢ 1074 ¢ 8642 ¢ EKn9
#32 #EKn1086 £K1084
Kontr Ut Res Poang Kontr Ut Res Poang Par Kontr Ut Res Poang
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